3. Am Yarrow.*)

Langfam. Slow.

3. Leader Haughs and Varrow.

The morn was fair, saft was the air, all naturessweelswere springing,
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Der FTag ift lind, lou weht ber Wind und al-lc Knos=pen fhringen, wie Gil-ber grau er -

the budsdid blow wilh
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glangt der Tau, biel tau-fend Bog - lein fin-gen. Wenn Jamesbergniigt am Ab-hangliegt und fymettertfet - ne
sil - verdew, ten thou-sandbirds were singingWhen on thebent, withblythcontent young Ja-miesang his
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Lie - der, tein  Burjdh wie_er s fin = den wir’ ben  Par-row auf und nie=der. Zwei Gtrophen.
marrow, nae bon - nierlass eer_ trod the grass on Lea-der Haughs and Yar-row. two verses.
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